&7/~ DIRTFREAIC APPLICATION by MODEL

SUZUKI DRZ400/S/E/R/SM

2020

Bike Year Description Part number
ZETA
DRZ400SM(BLACKBODY) 04-19 Top Clamp SX Black ZE11-3403
DRZ400SM 04-19  Triple Clamp Kit SX Black ZE14-3403
DRZ400S/R/SM 00-17 COMP Stabilizer W98 ZE33-2098
DRZ400S/SM 00-19 Pivot B-Lever CP 3-Fin ZE41-3142
DRZ400S/SM 00-19 Pivot B-Lever CP 4-Fin ZE41-4142
DRZ400S/SM 00-19 Pivot C-Lever CP 3-Fin ZE42-3140
DRZ400S/SM 00-19 Pivot C-Lever CP 4-Fin ZE42-4140
DRZ400S/SM 00-19 Pivot Lever Set CP 3Fi Black ZE44-7011
DRZ400S/SM 00-19 Pivot Lever Set CP 3Fi Blue ZE44-7012
DRZ400S/SM 00-19 Pivot Lever Set CP 3Fi Red ZE44-7013
DRZ400R/S/SM 00-19  Alu. Throttle Tube Quick ZE45-5111
DRZ400SM 05-19 Billet Kit Blue ZE51-3256
DRZ400S/SM 00-20 FrameGuard ZE52-0215
DRZ400S/SM 00-20 ED Skid Plate ZE55-2300
DRZ400/E/S/SM 00-17 RSL-Adjustable Red ZE56-01582
DRZ400/E/S/SM 00-17 RSL-LowDown -30mm Red ZE56-05582
DRZ400S/SM 00-20 S.Stand Extender Blk/Slv ZE56-6410
DRZ400S/E/SM(FRAME) 00-19 Magnetic Drain Bolt M10x15-P1.25 Blue ZE58-1222
DRZ400S/E/SM(FRAME) 00-19 Magnetic Drain Bolt M10x15-P1.25 Red ZE58-1223
DRZ400S/E/SM(CRANKCASE) 00-19 Magnetic Drain Bolt M12x10-P1.25 Blue ZE58-1412
DRZ400S/E/SM(CRANKCASE) 00-19 Magnetic Drain Bolt M12x10-P1.25 Red ZE58-1413
DRZ400S/E 00-19 Stem Nut M24x32-P1.5 H10 Black ZE58-2251
DRZ400SM 05-19 Stem Nut M24x32-P1.5 H10 Black ZE58-2251
DRZ400S/E 00-19 Stem Nut M24x32-P1.5 H10 Blue ZE58-2252
DRZ400SM 05-19 Stem Nut M24x32-P1.5 H10 Blue ZE58-2252
DRZ400S/E 00-19 Stem Nut M24x32-P1.5 H10 Red ZE58-2253
DRZ400SM 05-19  Stem Nut M24x32-P1.5 H10 Red ZE58-2253
DRZ400S/SM 00-19 Drive Cover Ti-Color ZE80-9506
DRZ400S/SM 00-19 Heel Guard Black ZE81-2004
DRZ400S/SM 00-19 Chain Guide Black ZE82-1200
DRZ400S/SM 00-19 F-Brake Reservoir Cover Blue ZE86-1501
DRZ400S/SM 00-19 F-Brake Reservoir Cover Red ZE86-1503
DRZ400S/SM 00-19 F-Brake Reservoir Cover Blue ZE86-2101
DRZ400S/SM 00-19 F-Brake Reservoir Cover Red ZE86-2103
DRZ400S/SM 00-19 Gas Cap Blue ZE87-6101
DRZ400S/SM 00-19 Gas Cap TI-Color ZE87-6106
DRZ400SM 05-19  Aluminum Bolt Set for Plastics 14pcs Red ZE88-5542
DRZ400SM 05-19  Aluminum Bolt Set for Plastics 14pcs Blue ZE88-5546
DRZ400SM 05-19 Fork Guard Bolt Set 6pcs Blue ZE88-9416
DR-Z400R/S/SM 00-19 Engine Plugs Red ZE89-1350
DR-Z400R/S/SM 00-19 Engine Plugs Blue ZE89-1352
DRZ400S/R 00-19 R-Brake Clevis Blue ZE89-5114
DRZ400SM 05-19 R-Brake Clevis Blue ZE89-5114
DRZ400S/R 00-19 R-Brake Clevis Red ZE89-5115
DRZ400SM 05-19 R-Brake Clevis Red ZE89-5115
DR-Z400S/SM 00-19 Revolver Shift Lever Red ZE90-3242
DR-Z400S/SM 00-19 Revolver Shift Lever Rep. Tip Mount Straight Red ZE90-3902
DR-Z400S/SM 00-19 Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
DR-Z400S/SM 00-19 Forged Shift Lever Red ZE90-4242
DRZ400S/SM 00-19 Trigger Brake Pedal Red ZE90-7282
DRZ400SM 04-19 F-Brake Line Clamp Red ZE92-2106
DRZ400SM 04-19 F-Brake Line Clamp Blue ZE92-2107
DRZ400SM 05-19 Rear Axle Block Blue ZE93-5252
DRZ400SM 05-19 Rear Axle Slider Black ZE93-6550
DR-Z400S 00-17  Axle Nut M18x24-P1.5 H9 Green ZE93-8035
DR-Z400SM 05-17  Axle Nut M18x24-P1.5 H9 Green ZE93-8035
DR-Z400S 00-17  Axle Nut M18x24-P1.5 H9 Blue ZE93-8036
DR-Z400SM 05-17  Axle Nut M18x24-P1.5 H9 Blue ZE93-8036
DRZ400S 00-19 Gr5-Ti Flange Bolt Set M8 50mm 4pcs ZT783-2504
DRZ400S 00-19 Gr5-Ti Flange Bolt Set M8 45mm 4pcs ZT783-2454
DRZ400S 00-19 Gr5-Ti Flange Bolt Set M8 40mm 2pcs ZT783-2402
DRZ400S 00-19 Gr5-Ti Flange Bolt Set M8 35mm 4pcs ZT83-2354
DRZ400SM 05-20 Gr5-Ti Chain AjusterBolt/Nut Set M8 50mm 2pcs ZT38-5501
DRZ400E 00-17  Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs ZT34-2506N
DRZ400S 00-19 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs ZT34-2506N
DRZ400SM 05-19  Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs ZT34-2506N
DRZ400/E/S 00-19  Gr5-Ti B-Disk C-SunkBolt Set M6 18mm 6pcs ZT31-2656
DRZ400SM 05-19  Gr5-Ti B-Disk C-SunkBolt Set M6 18mm 6pcs ZT31-2656
Z-CARBON

DR-Z400SM 04-19 F-Fork Wraps 52x160mm ZC35-4332
DR-Z400SM 04-19 F-Fork Wraps 52x225mm ZC35-4336
DRZ400SM(USA) 05-19 DC SUS Spoke Set Front DC422-1206
DRZ400S(USA) 00-19 DC SUS Spoke Set Rear DC422-5046
DRZ400S(USA) 00-19 R50 Rim 18-2.15 36H-1 Black W01-64411
DRZ400S/SM 00-19 R50 Rim 18-2.15 36H-1 Black W01-64411
DRZ400S(USA) 00-19 R50 Rim 18-2.15 36H-1 Black W01-64411G
DRZ400S(USA) 00-19 R50 Rim 18-2.15 36H-1 Red W01-64413




&7/~ DIRTFREAIC APPLICATION by MODEL

Description | Part number

Z-WHEEL
DRZ400S(USA) R50 Rim 18-2.15 36H-1 Green WO01-64414
DRZ400S(USA) R50 Rim 18-2.15 36H-1 Silver W01-64418
DRZ400S(USA) 00-19 R50 Rim 21-1.60 36H-1 Black W01-92411
DRZ400S/SM 00-19 R50 Rim 21-1.60 36H-1 Black W01-92411
DRZ400S(USA) 00-19 R50 Rim 21-1.60 36H-1 Black W01-92411G
DRZ400S(USA) 00-19 R50 Rim 21-1.60 36H-1 Red W01-92413
DRZ400S(USA) 00-19 R50 Rim 21-1.60 36H-1 Green W01-92414
DRZ400S(USA) 00-19 R50 Rim 21-1.60 36H-1 Silver W01-92418
DRZ400S/SM 00-19 M50 MotardRim 17-3.50 36H-1 Black WO03-57411
DRZ400S/SM 00-19 M50 MotardRim 17-4.50 36H-1 Black W03-59411
DRZ400S(USA) 00-19 Steel Spoke Set F W10-15110
DRZ400S(USA) 00-19 SUS304 Spoke Set F W10-25110
DRZ400S(USA) 00-19 SUS304 Spoke Set R W10-25745
DRZ400S/SM 00-19 SUS304 Spoke Set R AR Trail W10-27741
DRZ400S/SM 00-19 SUS304 Spoke Set F W10-29110
DRZ400S/SM 00-19 SUS304 SM-Z Spoke Set 17" 36pcs F Trail-A W13-17521
DRZ400S/SM 00-19 SUS304 SM-Z Spoke Set 17" 36pcs R Trail-A W13-27521
DRZ400S/SM 00-19 F-Wheel 1.60-21 W21-45511
DRZ400S/SM 00-19 R-Wheel 2.15-18 W21-55551
DRZ400S/SM 00-19 AR1 Motard Wheel Set F W27-15511
DRZ400S/SM 00-19 AR1 Motard Wheel Set F W27-15518
DRZ400S/SM 00-19 AR1 Motard Wheel Set R W27-25511
DRZ400S/SM 00-19 AR1 Motard Wheel Set R W27-25518
DRZ400S(USA) 00-19  Aluminum Nipple P3 36pcs Black W31-P3361
DRZ400S/SM 00-19  Aluminum Nipple P3 36pcs Black W31-P3361
DRZ400S(USA) 00-19  Aluminum Nipple P3 36pcs Blue W31-P3362
DRZ400S(USA) 00-19  Aluminum Nipple P3 36pcs Red W31-P3363
DRZ400S(USA) 00-19  Aluminum Nipple P3 36pcs Green W31-P3364
DRZ400S(USA) 00-19  Aluminum Nipple P3 36pcs Yellow W31-P3365
DRZ400S/SM 00-19  Aluminum Nipple P3 36pcs Yellow W31-P3365
DRZ400S(USA) 00-19  Aluminum Nipple P3 36pcs Silver W31-P3368H
DRZ400S/SM 00-19  Aluminum Nipple Q4 36pcs Black W31-Q4361
DRZ400S/SM 00-19  Aluminum Nipple Q4 36pcs Yellow W31-Q4365
DRZ400S/SM 00-19 Astelight Hub F Ti-Color W41-32118
DRZ400S/SM 00-19 Astelight Hub R Ti-Color W41-32218
DRZ400S/R 00-19 F-DiskRotor SUS W51-10326
DRZ400S/R 00-19 R-DiskRotor SUS W51-20225
DRZ400SM 05-17 R-DiskRoter SUS W51-20226
DRZ400SM 05-19 Brake Hose F C.BLK W61-14011
DRZ400SM 05-19 Brake Hose R C.BLK W61-25061
DRZ400SM 05-19 Brake Hose R RED W61-25063
DRC
DRZ400S/SM 00-19 EX Joint Gasket D31-41-010
DRZ400R/E/S/SM 00-17 Dura F-Sprocket 520-12T D331-523-12
DRZ400R/E/S/SM 00-17 Dura F-Sprocket 520-13T D331-523-13
DRZ400R/E/S/SM 00-17 Dura F-Sprocket 520-14T D331-523-14
DRZ400R/E/S/SM 00-17 Dura F-Sprocket 520-15T D331-523-15
DRZ400S(US) 00-19 Dura R-Sprocket 520-40T D34-32-040
DRZ400SM(US) 05-19 Dura R-Sprocket 520-40T D34-32-040
DRZ400S(US) 00-19 Dura R-Sprocket 520-41T D34-32-041
DRZ400SM(US) 05-19 Dura R-Sprocket 520-41T D34-32-041
DRZ400S(US) 00-19 Dura R-Sprocket 520-42T D34-32-042
DRZ400SM(US) 05-19 Dura R-Sprocket 520-42T D34-32-042
DRZ400S(US) 00-19 Dura R-Sprocket 520-43T D34-32-043
DRZ400SM(US) 05-19 Dura R-Sprocket 520-43T D34-32-043
DRZ400S(US) 00-19 Dura R-Sprocket 520-44T D34-32-044
DRZ400SM(US) 05-19 Dura R-Sprocket 520-44T D34-32-044
DRZ400S(US) 00-19 Dura R-Sprocket 520-45T D34-32-045
DRZ400SM(US) 05-19 Dura R-Sprocket 520-45T D34-32-045
DRZ400S(US) 00-19 Dura R-Sprocket 520-46T D34-32-046
DRZ400SM(US) 05-19 Dura R-Sprocket 520-46T D34-32-046
DRZ400S(US) 00-19 Dura R-Sprocket 520-47T D34-32-047
DRZ400SM(US) 05-19 Dura R-Sprocket 520-47T D34-32-047
DRZ400S(US) 00-19 Dura R-Sprocket 520-48T D34-32-048
DRZ400SM(US) 05-19 Dura R-Sprocket 520-48T D34-32-048
DRZ400S(US) 00-19 Dura R-Sprocket 520-49T D34-32-049
DRZ400SM(US) 05-19 Dura R-Sprocket 520-49T D34-32-049
DRZ400S(US) 00-19 Dura R-Sprocket 520-50T D34-32-050
DRZ400SM(US) 05-19 Dura R-Sprocket 520-50T D34-32-050
DRZ400S(US) 00-19 Dura R-Sprocket 520-51T D34-32-051
DRZ400SM(US) 05-19 Dura R-Sprocket 520-51T D34-32-051
DRZ400S(US) 00-19 Dura R-Sprocket 520-52T D34-32-052
DRZ400SM(US) 05-19 Dura R-Sprocket 520-52T D34-32-052
DRZ400S/SM 00-19 Clutch Lever STD D40-01-508
DRZ400S/SM 00-19  Clutch Lever Short D40-03-508
DRZ400S/SM 00-19 Brake Lever STD D40-11-408
DRZ400S/SM 00-19 Brake Lever Short D40-13-408
DRZ400S 00-19 Edge Alumi. T/L Holder kit Smoke-Lense D45-18-506
DRZ400SM 04-19 Edge Alumi. T/L Holder kit Smoke-Lense D45-18-506
DRZ400S 00-19 Edge Alumi. T/L Holder kit Red-Lense D45-18-706
DRZ400SM 04-19 Edge Alumi. T/L Holder kit Red-Lense D45-18-706
DRZ400S/SM 00-17 Radiator Hose Kit Blue D47-01-522
DRZ400S/SM 00-17 Radiator Hose Kit Red D47-01-523
DR-Z400E/R/S/SM 00-19 FootPegs Spring/Pin Set D48-01-117
DR-Z400E/R/S/SM 00-19 Wide Foot Pegs CrMo Mid D48-02-521
DR-Z400E/R/S/SM 00-19 Motard Foot Pegs CrMo D48-02-921
DRZ400SM 04-19 Stainless Brake Pin A-Type 37mm D58-33-072
DRZ400SM 04-19 Stainless Brake Pin C-Type 39mm D58-33-093

DRZ400SM 04-19 Stainless Brake Pin Set 2pcs A37,C39 D58-33-202



	drz_1
	drz_2

